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Esh2&
TN
Fot2tZ NI EALS (cHel:&J)
A - ZH . GRI(E) - HRAE - BES ol &k e 2
0 I=2E 2,895,000 *1.3% 38
0 LoEDIQYEH 88,0003 +3.275% 3
O otz 22| eI 19,073
02122 48,2403 +121%300 14,472
0 =xt=¢ 48,2403 +101x50 2,412
0 28Iz 16,884,000 *4.5% 760
0 ANEE 16,884,000&*4.0% 676
0 DE2E 16,884,000&*1.3% 220
0 ALEE 16,884, 0002 *3.053% 516
0 LoEDRAESA 516,000&*3.275% 17
201 LEH2 | 16,480 14,335 2,145
01 AtR2telt] 4,430 3,285 1,145
O tt2dg] 4,430
0 AtR2teltl 4,430
o0 SSSEAE SHEA 7L
60,0003 x455+ A 2,700
o S4t2EX| Fetx Ha
100, 0002 *37H 2 300
o =328 M=H
110,000 *132] 1,430
02 2223l 12,050 11,050 1,000
O =322 < HA 11,400
0 SR &MI|2Z2 950,000&x12& 11,400
O AM&EHl RG] 650
0 M=&gE8 SFU 50,0003 %133 650
401 AIEHIZ 2| 34,000 25,000 9,000
01 AlI&H| 34,000 25,000 9,000
O S22 ANE2 RAEAY
10,000,000& 10,000
O S&22 X F3tX HMSAH
3,000,000 & *8IH 2 24,000
At 29 56,458 54,237 2,221
101 2I244| 13,078 12,103 975
04 I H22NSES 13,078 12,103 975
O &tetztddy A0 13,078
02123 48,240&*121x200 9,648
0 F=xt=g 48,2402 +101x40 1,930
0 =203 11,577,600 *4.5% 521
0 LoEDIQYEH 352,000 &*3.275% 12
0 ANEE 11,577 ,600-2 *4% 464
0 NEEE 11,577,600 *1.3% 151
0 HLEE= 11,577,600 *3.035% 352
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SN 2ERB
B 2RXRNLAY
ol RERBRANLAI (Er9): &)
- _ _ PlEL=
S - ZE - SI(SIH) - HRAIY - BAS 0] apot Sl o HlRE2
201 B2 ] 43,380 42,134 1,246
01 AFR22IH] 6,120 5,800 320
O uer2gy| 6,120
0 YPAPSERY 10,00024%121+ 128 120
0 BEX 7Y 60,0004 #208t A 1,200
0 SHHAMIH L YHH 2
20,0002+ 13 2465 1,560
0 HA8E 7Y 50,0002/ 128 1,800
0 B4I| 22 60,0002+l A 122 1,440
02 ZZ2H| 37,260 36,334 926
O HBBUE 29 2223 37,260
0 23 2,000,002 122 24,000
0 YatRel esa 25,0002 +128 1,500
0 2| BALLE2 100,002+ 128 1,200
0 227 BIIZN 242 300,00024+13] 300
0 MIIQFTE 442 1,200,00024+13] 1,200
0 FJlorE 2| 250, 00021+ 122 3,000
0 SOUAAHIAAL MDa42
20,0002+ 122 2,400
0 MBIHE ABR 100,00024+128 1,200
0 B3 30,0002+ 122 360
0 QY BlM2 40,0002 122 480
0 RUSE $42 15,00021*9H A #128 1,620
S EHLALY 15,000 30,000 A15,000
401 AlBILSCHY| 15,000 30,000 A15,000
01 A&t 15,000 30,000 A15,000
O AISESHI MEIBY AlLSB4TA
10,000, 0002 0,000
O MEYSUL JAALES S4TA
5,000,002 5,000
WL 2,300,000 330,000 1,970,000
X 1,150,000
= 345,000
2 805,000
401 AlEBILSCHY| 2,300,000 330,000 1,970,000
X 1,160,000
= 345,000
2 805,000
01 AIZH] 2,289,020 328,560 1,960,460
O SHBBI| E20IE HHBL TLAY
1,295,320, 00024 1,295,320
X 650,000
= 195,000
2 460,320
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A 2522
M pETRNLAY
ol 2SN ALY (E491: &)
- _ _ PlEL=
SN - 3 - SRA(SIH) - MRAY - BES Oll &+t Ol] AkoH HwE2
O HIAR EIOFE 220(8F ZEAY
993,700, 00024 993,700
X 500,000
= 150,000
2 343,700
03 Al&=2CHE| 0,980 1,440 9,540
O ZABBT| E20IE MERZ THAIY 2
Chbl 1,300,000, 000240, 36% 4,680
O HAARZ BIOHE RROIBF ZHA 20
1,000,000,00024%0. 63% 6,300
MENRIRTI ISR 44,000 60,000 16,000
401 AIZHIL 2T 44,000 60,000 16,000
01 Al 44,000 60,000 16,000
O URADERTAMESLRT LA AF
WoHEEEE e 22,000, 00024 22,000
O EOHA B3t BYMTH TAHAR J=)
=4y 89 22,000, 00024 22,000
CHRALH S 2BIE MEHS Y2 T8AY 1,000,000 0 1,000,000
X 500,000
= 150,000
2 350,000
401 AIZBIZ 2T 1,000,000 0 1,000,000
X 500,000
= 150,000
2 350,000
01 Al=t] 993,700 0 993,700
O HRADIS 22X MEHELE T
993,700, 000! 993,700
X 500,000
= 150,000
2 343,700
03 Al&=2CHY| 6,300 0 6,300
O Al&=CHHI 1,000,000,0002/%0. 63% 6,300
TI2lard 2EHLAY 1,600,000 0 1,600,000
X 800,000
= 240,000
2 560,000
LA ESH S UST LA 1,600,000 0 1,600,000
X 800,000
= 240,000
2 560,000
401 AIZBIL ST 1,600,000 0 1,600,000
X 800,000
= 240,000
2 560,000
01 AI&H] 1,594,240 0 1,594,240
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M 232t
2 ARONE A
SRl Xolotd 2O ALY (cHel:&J)
- _ _ PlEL=
S - FE - SRI(SIH) - HRARY - BAS il ko Sl o HimE=]
O M SE=HEEES 1,594,240,000& 1,594,240
Xl 800,000
& 240,000
= 554,240
03 Al S20HHI 5,760 0 5,760
O AE=0HHI 1,600,000,000&*0. 36% 5,760
Nl arH 22 St 308,016 913,088 A605,072
Xl 147,000
& 29,400
= 131,616
KelarA22NL Ler2 A 63,016 41,358 21,658
201 LEr2 | 3,000 0 3,000
01 AtR2elt] 3,000 0 3,000
O Rle|orH2 2 Re IHASRY =4 Xt
= 250,000 *12& 3,000
308 AHXISHHMISO0IH 60,016 41,358 18,658
07 RXIEHZI2EZ2 60,016 41,358 18,658
O X2|atH2ZNY=xg 238 RE=
60,016,000& 60,016
Xelatd7sS70Is4 70,000 70,000 0
Xl 42,000
o= 8,400
= 19,600
308 RHXISHHMSO0IH 70,000 70,000 0
Xl 42,000
& 8,400
= 19,600
07 RXIEH2HREZ 70,000 70,000 0
O XeldAH7370154 70,000,000 70,000
Xl 42,000
& 8,400
= 19,600
et sEZe2EAEiERY 30,000 30,000 0
Xl 18,000
= 3,600
i 8,400
308 AHXIHHMISO0I& 30,000 30,000 0
Xl 18,000
< 3,600
o 8,400
07 RXIEHZI2E 32 30,000 30,000 0
O XelMtHsER2ZAIE0SES
30,000,000& 30,000
Xl 18,000
= 3,600
i 8,400
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S LRE-ER

SHRA(SA) - NIRAIY - BES

=
12

Sl

[ T

ol&rey

HIWES

0

KNelaHHA A 2SS SHE

Hmn-

35,000

21,000
4,200
9,800

35,000

308 AHXIEHISOIH

HHmnA

35,000

21,000
4,200
9,800

35,000

35,000,000&

H A

35,000

35,000
21,000
4,200
9,800

35,000

M H =

110,000

66,000
13,200
30,800

110,000

308 AFXIEHISOIE

M H A

110,000

66,000
13,200
30,800

110,000

110,000, 000&

M H =

110,000

110,000
66,000
13,200
30,800

110,000

Xl
p)

M

4,101,467

528,000
120,252
18,453
3,434,762

5,260,718

A1,159,251

S

M

1,183,228

120,252
18,453
1,044,523

1,137,458

45,770

M

9,836

4,918
4,918

9,836

307 B12+0|&

M

9,836

4,918
4,918

9,836

H=s0tel XA 9,836,000

M

9,836

9,836

4,918
4,918

9,836

5,000

5,000
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M 232t
M HEE M=E2sS X
ool ZoX=sEs 243t (cHel:&J)
i _ _ AT
SA - ZH . GA(SH) - HRAY - B82S Ol &FoH Ol] AkoH HwE2
307 BIZHOIA 5,000 5,000 0
02 QIRFEAAIEE 5,000 5,000 0
O ZOHIMSRI Y3 50,00024% 100 5,000
D EP IR, 70,000 70,000 0
307 QI2H0IA 70,000 70,000 0
02 DIRFAIAIIEE 10,000 70,000 60,000
OMEE & FIEXME S48XIA
10,000,000 10,000
03 DI M H 22X 60,000 0 60,000
OUMHPEEHIRS 2N 60,000,0002! 60,000
MBS TIRZAIE 29 14,000 14,000 0
< 4,000
2 10,000
307 BIZHOIA 14,000 14,000 0
= 4,000
2 10,000
02 DIRFAATAIIE X 14,000 14,000 0
OAZMEHSUHEISH 14,000,000 14,000
= 4,000
2 10,000
MU MBS X 106,752 106,752 0
pJ 48,576
2 58,176
307 QI2HOIA 106,752 106,752 0
pJ 48,576
2 58, 176
02 QIZIH AN B R 106,752 106,752 0
ONLH MEMSXNSXHHRIZE
424%24, 283,000 97,152
pJ 48,576
2 48,576
ONN MEXNFXEX WSHl XA
200,0002*4 %+ 128 9,600
MER S A 12,096 12,096 0
= 3,628
2 8,468
307 QIZHOIA 12,096 12,006 0
= 3,628
2 8,468
02 DIRFAATAIIE X 12,006 12,096 0
OMgH|nAY 12,096,000 12,096
< 3,628
2 8,468
MEfsT2 g X 9,792 9,792 0
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SN 25D
= 2iXE USEE N
o9l PLHSES 245 (Er9l: &8
- _ _ PlEL=
A - FH - GR(3H) - NRAY - BES Ofl &tk Ol] AkoH HwsZ
= 2,937
s 6,855
307 212401 9,792 9,792 0
= 2,937
2 6.855
02 SIFHHAEBE 9,79 9.7% 0
OQdEH=sZI208=2S 9,792,000& 9,792
S 2,937
o 6,855
Hz4 NS 106,752 106,752 0
Jl 48,576
= 58,176
307 RI2401& 106,752 106,752 0
] 48,576
= 58,176
02 SIHEAMNBEX 106,752 106,752 0
ONZUHLHHHS T2
424,288,000 97,152
Jl 48,576
= 48,576
ONZAFSMEHSNSH DEH| X
200,000 +42+ 122 9,600
250 54 N 30,000 30,000 0
307 212+0|& 30,000 30,000 0
02 QIZIHAAIEE X 30,000 30,000 0
O3 HHEFC 28| K& 30,000,000& 30,000
AR HIRH™HALY 33,000 26,230 6,770
Il 23,100
= 2,970
2 6,930
301 LEt2a=s 33,000 26,230 6,770
P 23,100
= 2,970
s 6,930
01 A2l 2&E+0ll= 33,000 26,230 6,770
O AZ= HIRHAIS 33,000, 000& 33,000
Il 23,100
< 2,970
s 6,930
COIXNSUSI#HAKIR 153,000 153,000 0
307 2I12+0I1A 153,000 153,000 0
04 CIZFHAAH E X 153,000 153,000 0
OE2N=SUHal AKX 150,000, 000& 150,000
0231 =Ml N 3,000,000 3,000
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M 232t
B AXS YKBE N
o9l RolNSES Bas (S9:®g)
S - B - C9(S0) - HRAKY - BaS o4k o HlmS2t
ZOIMSUS H=l XA 182,000 33,000 149,000
307 QI2t0| & 182,000 33,000 149,000
04 DIZISHALAIIE X 182,000 33,000 149,000
O =ZBIol & XSAL 12,000,000 110HSH 132,000
O =A== iz X2 50,000,000 50,000
HEfesdesS4XE 10,000 10,000 0
307 SI2H01 ™ 10,000 10,000 0
04 QIZIHALAIRIE X 10,000 10,000 0
OMs 28+ sS4 XA 10,000, 000& 10,000
AT MEHSUHEA 87,000 87,000 0
307 QI2H0|H 87,000 87,000 0
04 DIZFEATAI B X 87,000 87,000 0
OFLE MBS HEN 20t X2
85,000,000 85,000
O=321] Al X 2,000,000& 2,000
HeE=EMFUE 30,000 30,000 0
307 QI2t0| A 30,000 30,000 0
04 DIZIHALAIIE X 30,000 30,000 0
OHASIEN=U 4
2,500,000+ 12HEB= 30,000
METI2HMES U 20,000 20,000 0
307 QI2H0| & 20,000 20,000 0
04 DIZHHAIAIE E T 20,000 20,000 0
O4tE =2 J|ZEHHE =703 1=l
20,000,000& 20,000
STWMEHSAE AL 6,000 6,000 0
307 QI2t0| & 6,000 6,000 0
04 BIZIHAIAIRIE X 6,000 6,000 0
OHHERIEH StNMEXSAIE AMSKIA
6,000,000& 6,000
M=ol AL 8,000 8,000 0
307 SI2H0| A 8,000 8,000 0
04 DIZHHAIAIE 2T 8,000 8,000 0
OM=0ol steredAl 8,000,000& 8,000
HELMEFE 10,000 60,000 250,000
307 QI2t0|& 10,000 60,000 250,000
04 DIZHHAIAIE 2T 10,000 60,000 A50,000
OUZ2AME =2l &It XA 10,000, 000& 10,000
FSPNETSISEEON| 30,000 20,000 10,000
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M 232t
M HEE M=E2sS X
ool ZoX=sEs 243t (cHel:&J)
S - B - C9(S0) - HRAKY - BaS o4k o HlmS2t
307 QI2to|& 30,000 20,000 10,000
04 BIZIHAIAIRIE X 30,000 20,000 10,000
O dX=d8 =X 1,000, 0002 *30E! 30,000
A= Y S| AL 50,000 50,000 0
307 SI2H01 A 50,000 50,000 0
04 DIZHHAIAIE 2= 50,000 50,000 0
O ZAaYEXIAEICHS] &0 X
30,000, 000& 30,000
O £2¢ ®2 2 COSIYSHAL &I}
20,000,000& 20,000
HILEERUS 35,000 35,000 0
307 QI2t0|H 35,000 35,000 0
04 BIZIHAIAIRIE X 35,000 35,000 0
ONZEZE U2 K= 35,000,000 35,000
Kel&tA 7I0AIZ2 MU 20,000 20,000 0
307 QI2t0| A 20,000 20,000 0
04 DIZISHALAIIE X 20,000 20,000 0
OXlelatd 7HAIZ M=CHS! &t
20,000,000 20,000
M MaRAE S0 OHE 50,000 50,000 0
307 QI2t0| & 50,000 50,000 0
04 BIZIHAIAIRIE X 50,000 50,000 0
Otz MIRAESUEIHA
50,000,000& 50,000
&A= 20 2=0EHE 45,000 45,000 0
307 QI2t0|H 45,000 45,000 0
04 BIZIHALAIRIE X 45,000 45,000 0
O&= €0 2=U3INE 45,000,000 45,000
studs 54 AA 50,000 0 50,000
307 QI2t0| A 50,000 0 50,000
02 RIZHBAANSE X 50,000 0 50,000
OZ2IME &Jtstn XNE=8 X
10,000,000& 10,000
OBLR S4XIA ZH| 15,000, 000& 15,000
CEEHEN 28 2 &8 X 15,000,000& 15,000
OERIHE 528 182 d20s A
10,000,000& 10,000
HMSAME2SE 1,398,239 813,260 584,979
SEMSANLE2SE 466,239 418,941 47,298
101 @1244| 56,814 44,296 12,518
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Zot2tZ
288t Msgs
HFAE2S

[
$
P
rio

S - - BREH) - MRAR - BaS of vt o HI DS
04 JIZtN22ASE+ 56,814 44,296 12,518
O Bu=sEEHFYIIY
48,2403 +201+50 4,824
O ZMSEFHIEIQRY 48,2402 %121+50L 2,412
O dZgEz 222y 48,2403 %201x50 4,824
O WZYNTC=o oy
48,2403 *201x50 4,824
O atEetotsZ2 gAY 12y
48,2403 %201+50 4,824
O ZUHSHEHFHIHQRY
48,2403 %1Q1+50 2,412
O dxHss3 2202 16,347
0JlE= 48,2403 %121x2502 12,060
0 =Xt==¢ 48,2403 x101x50& 2,412
0 =pALEE= 14,472,00021+3.035% 440
0 1E8=28s 14,472,00031.3% 189
0 AHHESE 14,472,000 *4. 0% 579
0 =83 14,472,000&*4 . 5% 652
0 RIEVIRYTE= 440,000&*3.275% 15
O gRdeMssd 2222y 16,347
0Jl==2 48,2403 %121x2502 12,060
0 =X 48,2402 *1Q1x50 2,412
0 =0ALESE= 14,472,000 3. 0355% 440
0 ISEE= 14,472,000 *1.3% 189
0 AHHEEE 14,472,000 *4 . 0% 579
0 =2z 14,472,000& %4 . 5% 652
0 LIEVIRYTE= 440,000&*3.275% 15
201 £EH= g 223,425 195,645 27,780
01 At=2teld] 19,690 19,690 0
O «it==ZH| 12,620
FA22ES 7Y 75,0003 *7IH %432 2,100
0 MD10tcH 2 3,000&+70J4%12& 2,520
0 AUMIS22 Sa A2F F
200,000& *7 I 2= 1,400
0 ZIIE3(2YL . UES)FY 1,500,000 1,500
0 =010z 50,0003 4 A+ 128 2,400
0 2st2telkt A W= 200,000 *1H 200
0 SSHSAIE 2e|ARd 24
500,000 #5724 2,500
O =&l 2,870
0 SEHI(H=sgRFE) 7,0003+521x704] 2,450
0 SEHI(HEEHINZR)  7,0008%221x304] 420
O =g 4,200
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S A

Hm: ANE HSEs XY
o°Helr MsAE2E CERE)
o - e - - MdET =
2A - M G2 () - HRAY - BES Ol Akt Ol &l Hws2
0 M=XEE2s 29 ¢
70,0002 *43]*x13H 3,640
0 MEHEII22Z/AE 29 =4
70,0003 *23]+4YH 560
02 S=23| 203,735 175,955 27,780
O 2222 < HA 196,035
0 IOt BT 1,000,000 * 12 12,000
0 Yat2e|BRUdE === 600,000& *12& 7,200
0 AoI=R=2 14,5203+ 12& 175
0 M3 170,640
o AUxsa &JIRa 3,000,000 *12& 36,000
o0 MEMSZH HIIRB
1,200,000 * 12 14,400
0 SEISH IS 1,500,0002+12& 18,000
MEHHSHH &2
1,800,000 *12& 21,600
o HRMENSZH M3
1,500,000 *12& 18,000
0 AIFMETSAE M2
1,000,000&*12& 12,000
0 HEXT SULREAIL HIIQS
1,000,000 * 12 12,000
0 MEZAT MRS 100,000&*12& 1,200
o HUA 2 I3
1,100,000 *12& 13,200
o cHEESHE MIIRS 500,000&*12& 6,000
o RNER LI 350,000&*12& 4,200
0 SENIMSHOIEERHIIRS
600,000& *12& 7,200
o A2 MEAIEE &HIILSB
70,0003 12& 840
o SHAEAMSBHOIESH MIIL3
100,000& x4 & *153] 6,000
0 Mot=ER3 350,000&*12& 4,200
0 datea ¥ eIy 110,000&*12& 1,320
0 =&ZA =2 K= 500,000&*13] 500
O AIE&BISXIYI 7,700
0 SSHMSAE R 2 2,200
0o A3 5,000 #4005 2,000
o 3II=Z 4,000 *50L 200
0 ALHMISZIIHAEHIRKIZS
500,000 =13 500
=FAI | H ALY Es 500,000&*13] 500
HOIANE 2SR Ex 500,000&*12] 500
MSAE S22l 2,000,000 %2004 4,000
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2A: 22
HM: AME HSE=S
SR MsSAE2Y CERE)
(=] % ol(= = Ik @L'j—":— ==
2 - F3® - H2A(ZH) - HI2AY - HES 0ff Ao Ol] AkoH Hlus2
202 (481 9,000 9,000 0
01 2LHH] 9,000 9,000 0
O H(M=gR4-8) 150,000 *501x12& 9,000
206 MZH| 2,000 2,000 0
01 =4I 2,000 2,000 0
$222|2H|2, EH|, DIAIER Y
500,000& *43] 2,000
307 2I2t01A 168,000 168,000 0
05 oIt &2 168,000 168,000 0
O =&, XD E
14,000,000 12& 168,000
405 XHAHE SHI 7,000 0 7,000
01 XM Z2EFSHI 7,000 0 7,000
O €2 HLULAYH 24 72 7,000,000& 7,000
2R MESALEES 932,000 394,319 537,681
401 AlZHIL 20 932,000 394,319 537,681
01 Al&b| 930,000 392,000 538,000
OMSAEEs Y 8K 150,000, 000& 150,000
OZHEAEZ(2SH)0IESX 24|
50,000,000& 50,000
O8H MESAIEE+=AS 10,000,000&*11=2H 110,000
O ZEEI2 HOAIE (AFRA)EEAIY
150,000,000 150,000
OSE2sE 34H| FHAHIAMS
15,000, 000& 15,000
OS89 o277 &XIAL
10,000, 000&*6IH 2~ 60,000
OZ2EH(AEY)BEOAIE XA
15,000,000& 15,000
Odlor Et38 XA
200,000,000& %104 A 200,000
OIS SHAHZATRE XA
150,000,000 * 102 150,000
Ogs HILIAE HHIAY 20,000,000& 20,000
OCHZEEIR2 AES B2AY 10,000,000& 10,000
03 AIE=201HI 2,000 2,319 A319
OAIE=20id| 2,000,000& 2,000
S2H=sAlIE 22| 1,520,000 3,310,000 1,790,000
Xl 528,000
iy 992,000
AOH=SIESHHIE A ALY 200,000 0 200,000
401 AlEHIYL L0 200,000 0 200,000
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o SSHSAIE22] (S &)
i i _ Hus
2 - F3® - H2A(ZH) - HI2AY - HES 04| AroH lOﬂ/l\_l'o” Hlus2
01 Al&H| 200,000 0 200,000
ONIOHESIRSIMIEHE AAEHEH
200,000,000& 200,000
AESAX P MESHOIESEE XA 420,000 420,000 0
Xl 168,000
= 252,000
401 Al&2HIZL L] 420,000 420,000 0
Xl 168,000
o 252,000
01 Al&HI 416,976 416,976 0
OMESUXAEEZHOIESHEXIAY
416,976,000 416,976
Xl 168,000
iy 248,976
03 AIZ 20| 3,024 3,024 0
OAIE=20id| 420,000, 000&*0.72% 3,024
AECOIHANFAE HBAIS 300,000 250,000 50,000
Xl 120,000
iy 180,000
401 Al&HIZL L] 300,000 250,000 50,000
Xl 120,000
iy 180,000
01 Al&H] 297,840 248,200 49,640
OatE LoIALXSHE HEAMY
297,840,000& 297,840
Xl 120,000
o 177,840
03 A& 20HYI 2,160 1,800 360
OAlE 20HbI 300,000,000 *0.72% 2,160
AME ATLRAHE HEAIY 600,000 0 600,000
Xl 240,000
o 360,000
401 AlZHIL20HY| 600,000 0 600,000
Xl 240,000
o 360,000
01 Al&H] 596,220 0 596,220
ONHEAIIRAE HEAIS 596,220,000& 596,220
Xl 240,000
o 356,220
03 AIE201H| 3,780 0 3,780
OAIE 20| 600,000,000& * 0.63% 3,780
MRss (222 200,000 100,000 100,000
WEHHXI= 200,000 100,000 100,000
SsdEIIZ ME 100,000 100,000 0
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2A: =atatant

M Hes(2s221)

=l WRHeHXIE (et &)
S - - BREH) - MRAR - BaS of vt o HI DS

702 J|I=sdES 100,000 100,000 0

01 JI=d&E= 100,000 100,000 0
O=2s=dElIsdE 100,000,000 100,000

HE&EII= 100,000 0 100,000

02 JIs8EsS 100,000 0 100,000

01 JI=dE= 100,000 0 100,000
OMsd&EJI8 &8E 100,000,000 100,000
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